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KR : B T6.6~7.0 C, KET6.5~6.9 COHPHIZHHT,

sy RKIET 83.6~33.7T DHEIPAIZH Y, JKET33.7T Thoi,

pH : 8.01 ~ 8.60 OFiPHIZH ¥, St.6 A HIRATHIDESE 2 Br < 2 CAKREHAKIERE (7.8 ~
8.4) Ziii7= LT iz,

COD : 0.1 Kiifi ~ 0.5 mg/L OFPHIZH 0, 2 CKREMKIERE PASHENTE © 2 mg/L BLT)
Zii 7z LT,

DO : 9.6 ~ 10.8 mg/LOFFHIZH Y, R CTKREAKENE (6.0 mg/LLL L) i LTz,
ISR AR - ST BT O#PANICH o T,

U UEEREY v (POsP) : 7.7~ 21.1 pg/L
7 rE=T7EEHR (NH+N) : 2.6 ~17.5 ug/LL
fiffieEE® (NO2-N) - 0.8 ~ 3.3 pug/L

HlERE%F (NOs-N) : 8.9 ~ 59.6 ng/L
(ZRB=FX 12.3 ~ 69.0 ug/L)
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